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1. XORXRZHNESRE L. (SHE15108, Afk2530%, B350, CH5530%)

(1) 323 4+ 922 + 92 + 3 (2) xb — 2
3) a’b+a®>—-b—1 (4) 8a? + 4ab — 4b?
(5) 2 —z—a’+a (6) a? 4+ b2 + 2 + 2ab + 2bc + 2ca

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROAXZENESEEE. (SH15340%, A3, B#4T308, CHh63208)

(1) %x?’ — 24— % (2) 2% — 2?2
3) 1—b—a’®+a2%b (4) 9a2 — 6ab — 3b?
(5) 2—zx—a’—-a (6) a? + b2 + 2 + 2ab — 2bc — 2ca
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R#ETAS EHDE WBW3 03 FERSH

1. XORXRZHNESRE L. (SHE15108, Afk2530%, B350, CH5530%)

(1) 323 4+ 922 + 9z + 3 (2) 25— 2?
=3(2%+ 322+ 3z + 1) =223 - 1)
=3(x +1)3 =z%(x—1)(z2+x+1)
*

A% +3A%2B +3AB? + B® = (A+ B)?

(3) a’b+a®>—b—1 (4) 8a? + 4ab — 4b?
=a’h—b+a*—1 = 4(2a% + ab — b?)
=b(a®—1)+ (a®> —1) < HfERD b TEH =4(a + b)(2a — b)
=(a®-1)(b+1) K 72T E T OB R
=(a+1)(a—1)(b+1) 1 +1 — 42

2 > 1 -1
FAEIR TEERH +1

K ZDHEIFLTDO LI ITLTH LW,
a’b+a?—b—1=a?b+1)—(b+1)

(5) 2?—z—a’+a (6) a? 4+ b2 + 2 + 2ab + 2bc + 2ca
=22~z —ala—1) =(a+ b+ c)?
=(x—a)(x+a—1) * AR HZTELZLE. 2RXZ2HL 20, [0S

&, LMD X ) RfifE 751557259,
* 729 BT OB R
55 = a? 4 2ab + 2ca + b% + 2bc + 2
1 >< —a —  —a =a?+2a(b+c)+ (b+c)?
1 a—1 — a-—1 ={a+(b+0))?
—1

Ko, yDELLH 2RXA BERBOLFTELEDE L)
TEEEZ WD, 85 50X IR LT UL
T, EWCHRBDBARED E ) 2T CICHWTE 55
ZZTIEL v,

yoilffd: PFHAEIEHT 5.
HEX=22-a>-2+a=(x+a)(x—a)—1(z—a)
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2. ROAENELBEE. (SHk17340%, A3, BK47330F, CH6320%)

1) tad a2y 1
3
:é(x3—3x2+3x—1)
1
_ _13
L)
*

A3 —3A2B 4+ 3AB? — B3 = (A — B)3

(3) 1—b—a®+a2%b

=a’h—-b—a’+1

=b(a?-1)—(a®> —1) < HfERD b TEH
=(a®—=1)(b—1)
=(a+1)(a—1)(b—1)

SRR CRE

ZDYER,

1-b—a?>+a?b=1-b—a?(1-0)
ELTHTES.

(5) 2 —z—a’—-a

=z -z —ala+1)

=(xz+a)(x—a-—1)

K 72§ U ORB R

1 >< +a —  +ta

—a—1 — —-a-1
-1

=z2(z* - 1)
=22(2? +1)(2? - 1)

=z%2(z2 4+ 1)(z + 1)(xz — 1)

(4) 9a2 — 6ab — 3b?

= 3(3a? — 2ab — b?)

=3(3a + b)(a — b)

K 729 E BT O RE R
>< +1 — 41
-1 — -3

—2

(6) a? + b2 + 2 + 2ab — 2bc — 2ca

=(a+b—rc)?

R FAF
Y 1(6) ERED 2HDIEEDNEKL S, (a+b+c)? ZA X
=Y LADS, SXTFOILAZEAD L E) R EZL
I bRABICE LSBT 2 EUTDOL)ICE D,
Sl i
53 = a? + 2a(b— ¢) + b* — 2bc + 2
=a?+2a(b—c)+(b—c)?
={a+ (-0}
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